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Candidates must write the Code on the
title page of the answer-book.

o FUAINE I A fF W IH-19 H gfgd T8 12 ¥ 1 a1 2 TS WA F €

e  UYA-TA H TIfed T i 3R Y TT IS TR ! B IR-IRAH & FE-T58 W o |
e FHNEWRAFHIA-TTH 22 THT|

o  THUAT YUY T ST [TET I& I A UgH, U9 kT hHich 31avd fead |

e IH UW-TA HI TG4 & fA€ 15 e &1 99 fen T 81 UeA-9F 1 faarur et o
10.15 Ss! fRIT ST 10.15 91 § 10.30 Tl T S had J9-T i T 3R 3
31afy & SRE o SW-YRaIehl W HIE WK &1 feag@ |

o Please check that this question paper contains 12 printed pages and 2 pages of
maps.

o Code number given on the right hand side of the question paper should be written
on the title page of the answer-book by the candidate.

o Please check that this question paper contains 22 questions.

o Please write down the Serial Number of the question before attempting
it.

o 15 minute time has been allotted to read this question paper. The question paper

will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will
read the question paper only and will not write any answer on the answer-book

during this period.
GEOGRAPHY (Theory)
feRa a7 : 3 792 SFfgHaT 3P : 70
Time allowed : 3 hours Maximum Marks : 70
64/2 1 P.T.O.

Previous Pathshala




QAT 7597 :

() SATATTHFA 22 T8/

Gi) G4l gv7 SHfard &1

(iii) FOF F97 & GHT 37F T T &)

(v) 97 9@ 1 T 7 37fq o7 ST J99 &1 FAF J97 1 3% F1 81 JAF F97 H 3T
40 T G 7Y% TET G TR

() FHTIET 8 13 T ITITFIT & | Fealdh I¥7 3 371 181 $79 T T J7 oo SR
T97 &1 Fedd J97 & I 80 - 100 I T 37k 787 &1 Feq

(vi) F¥7 &I 14 @ 20 5 3T0T §97 81 JAH F97 5 3HH BT &1 TP F97 H FH
150 9Is5) @ 37fyes 787 g1 =nfeu

(vit) 9T TE&T 21 3R 22 HHATTAl T TGET STl T T YA faorgarsii © qerea
TIT 81 oI G975 bl FT 8 1

(viit) 379! ST 7T fooe Tom YR & 3@ HFlFH] 1 IR GIadl & G 37a99 &1 |
(ix) 3@ TEFTE & @67 F 78 Rfger a7 20ci2q 3 SYFIT &1 373wl &1 Sl &1

General Instructions :

(1) There are 22 questions in all.

(i1) All questions are compulsory.

(1it) Marks for each question are indicated against it.

(tv) Question numbers 1to 7 are very short answer questions carrying 1 mark each. Answer
to each of these questions should not exceed 40 words.

() Question number 8 to 13 are short answer questions carrying 3 marks each. Out of

which one question is a value based question. Answer to each of these questions should
not exceed 80 - 100 words.

(vi) Question numbers 14 to 20 are long answer questions carrying 5§ marks each. Answer
to each of these questions should not exceed 150 words.

(vit) Question number 21 and 22 are related to identification or locating and labelling of
geographical features on maps carrying 5 marks each.

(viit) Outline maps of the World and India provided to you must be attached within your
answer book.

(ix) Use of templates or stencils for drawing outline maps is allowed.
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1. WHOR ¥ f\d fa oaa =g ? 1

What is the average sex ratio in the world ?

2. YR ¥ IS HEA H AN UTHIO &5 ¥ TR &5 ! I Fl A © 2 1

Why do people migrate in large number from rural to urban areas in India ?

3. TR SR &5 i fohdl QI THE TS 1 Seai@ Hif | p41p=1

Mention any two major problems of Ruhr-industrial region.

4. AR GG fre ghR fordll <91 % snfefer foshmd 1 g=reh 2 2 1

How is the favourable balance of trade an indicator of economic development of
a country ?

5. 2003, YR TR S AL Fall AT 1 T&F 9 F1 6 ? 1

What is the main thrust of the National Youth Policy of Government of India,
2003 ?

6. T faehrm &l fa=Rym &l o= HifSu | 1

Define the concept of human development.
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N

£ 1

IR H o<t 7 B Uiy iR e Sl o 1T 1 Teh ShRU1 T SIS |

Explain one reason for the import of petroleum and its products in large

quantities in India.

TRG i Too! AR affara amior afadl § o T Sifsu |

3x1=3

Differentiate between ‘Hamletted’ and Dispersed’ rural settlements of India.

I < I AfeTeRt 1 STEAIE SifeT SR 39 A fou T geHl % SW fafew : 3x1=3
fuferam et =1 wergiat o STAR feravur
TEga TR 1950 | 1970 o T9Teh ok Wed | 2000 ok Wed
I 23 30 58
o 32 69 206
ST WG [T SR 16 36 79
Sferoft sTafient 8 17 43
STHIchT 3 8 46
st 2 2 6
faea 9 84 162 438
T : www. citypopulation-de/world. html
(9.1) < HRIgIGl < AW fafaw S 7= "ergrdl &f o # fufaas 7Rl <t gen o

a9 ¥ g5 T ¢ |

(9.2) 39 39 gfg T o T HROT F1 <7 2

(9.3) ‘B’ TR &1 3 fafEn |
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Study the table given below and answer the questions that follow :

Continent - wise Distribution of Million Cities

Continent Early 1950 Mid 1970s Mid 2000
Europe 23 30 58
Asia 32 69 206
11:;);:2 caand Central 16 36 79
South America 8 17 43
Africa 3 8 46
Australia 2 2 6
World Total 84 162 438

Source : wwuw. citypopulation.de/world. html

(9.1) Name the two continents which have shown lowest growth rate of million
cities as compared to others.

(9.2) What reasons will you assign for this growth rate ?

(9.3) Give the meaning of a ‘mega city’.

e : FrAfafea av= shae gl udenteit o foT w9 9T 9 & e W
%

9.1) ‘fafeaaa’ TR &1 e fafay |
(9.2) TR ANl i fh=l < THEART I IeeT@ HIFT |
(9.3) = & < T TR & T fafaw)

Note : The following questions are for the Visually Impaired
Candidates only; in lieu of No. 9 :

(9.1) Give the meaning of ‘million city’.
(9.2) Mention any two problems of urban settlements.

(9.3) Name two mega cities of China.
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10. ‘‘HE & forT gehfa & Frml S SR @R 3% gHe st SuArt g 1 A g 3
%l T HITTT S Jhid o IURRI skl Fdd AU &Y H STAN HH H HIS X Hehd
gl

“The knowledge and understanding of the laws of nature are extremely valuable
to humankind”. Explain the values that can help to use the gifts of nature in a
sustainable manner.

11. 9Rd § Sig-31 st AT & faT ST=fiar T Sifsu | 3

Explain the significance of bio-energy to humankind in India.

12. T YQS o S9eT foel § IR fohT 1T, STot H901 G e hrdshH Sl Theldl bl W& 3

IS |

Examine the success of watershed management programme implemented in
Jhabua district of Madhya Pradesh.

13. = feu Tu 3@ &1 AT ifey 3R STk = feu v geel & sw fafew . 3x1=3

(13.1) 3@ ¥ fe@m U 359 TIF &1 ggEHe 3R 39t 9M fafen |
(13.2) 39 999 & foau omqfd & ot wEen iR AT @9 &5 & 9™
fafaw |

(13.3) 39 G % SIoMYfd o1 ©Id HE-T1 T 2
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Study the diagram given below and answer the questions that follow :

"« Manganese
% Steel Plant
& Limestone

Birmitrapur ' Coal

¢ Iron Ore

iy ¢ Gorumahisani
Kutupit

Bonaigarh »k

(13.1) Identify and name the steel plant shown in the diagram.

(13.2) Name the mining areas which supply coal and manganese to this
plant.

(13.3) Which is the source of water supply to this plant ?

qe: fratateaa wv saa gieanfua whanfdt & fau vyoa = 13 &
WW%

(13.1) 39 T &1 AW fafe, sl g seumd w4+ feoa 7

(13.2) g 3R STUTT &M H Yo e aTet fohgl &1 hed el ol Seeld ity |

(13.3) g 3iR TTTd &M & e & fohgi ol fagail o1 Seer@ SHifT |

Note: The following questions are for the Visually Impaired
Candidates only; in lieu of Q.No. 13 :

(13.1) Name the state in which Durgapur steel plant is located.

(13.2) Mention any two raw materials used in the iron and steel industry.
(13.3) Give any two points of significance of iron and steel industry.
64/2 7 P.T.O.
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14.

15.

16.

17.

18.

19.

64/2

forva o ‘Traor W’ 1 fort are fawmanet 1 goi wifs 5

Describe any five characteristics of ‘plantation agriculture’ in the world.

fova o ' H=R ganedi’ &l Hedl T Hifeig | 5

Explain the importance of ‘communication services’ in the world.

TR H SHEEAT YA k] YT & ol fohgl oI * STyeme’ 3R for=l <1 3cyemy

heh] hi SATEAT hifo | 3+2=5

Explain any three ‘push’ and any two ‘pull’ factors that influence the migration
of population in the world.

‘“qR-SFATST YGHN Sl FATST i TAF oA FHEl AT €1 TH FUT HY T

o

3SR Hfgd gfte hifsre | 5x1=5

‘Trans - Canadian Railway line is considered as the economic artery of Canada.’
Support the statement with suitable examples.

“fawifed < '’ qen ¢ i fy &1 frefieon’ arRd $f S TR g €
T TUEST % T o U U EIET IR STeh! ST Hiferd | 2+3=5

‘Fragmentation of land holdings’ and ‘degradation of cultivable land’ are the
serious problems of Indian agriculture. Suggest and explain measures to
overcome these problems.

qRd § Yag & 3 TR grifsier aRomdl i 9@ Hifsu | 214+2%=5

Examine the economic and social consequences of migration in India.

Previous Pathshala




20.

21.

64/2

IRA o 3Td0: T STTHr YUl bl YfHT ol W HITT | 3T 2el 1 e
TREEd, TRaeT i T Heaqul 991 31 §, T hifT | 2+3=5

Examine the role of Inland Waterways Authority of India. Explain why inland
water transport is an important mode of transport.

HOR & THIdeh W@ AHfE (I3 13 W) | fe@m e ur= sirifers el A, B, C,
D 3R E &I 989 HIT9C AR 37 &l TH 9 <7 T STHhR i geg 9 396 T4
it T et R fafen 5x1=5

(A) 3T § o 92 &5The a1al o9 |

(B) U Hf H1 &F |

(C) YHE FY&I T |

(WY
[

D) AU 91 9« |

(E) WM TRI

Identify the five Geographical features shown on the political outline map
(on page 13) of the World as A, B, C, D and E and write their correct names on
the lines marked near them with the help of following information :

(A) The Country with largest area in Africa.
(B) An area of dairy farming

(C) A major sea port

(D) An international airport

(E) A mega city

9 P.T.O.
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(21.1)

(21.2)

(21.3)

(21.4)

(21.5)

Note :

(21.1)

(21.2)

(21.3)

(21.4)

(21.5)

FrefafEa wva shaw gieartia wenfea & fau yoa 9@ 21 &
AW :

AR H Hod 3Tf¥eh SEEAT 9Tt <91 k1 7 fafEu |

IR AR § <8 Ffu &t 1 9 fafew

steeferen & fordl T 9@ 9t g 1 9M fafaw

c 0

gferor sTfent o fordll Tk ST=aRisg oy o< o1 1w fafaT |

A9 o Tl Tk AR k1 9 forfEy |

The following questions are for the Visually Impaired
Candidates only; in lieu of Q.No. 21 :

Name the country with largest population in Africa.
Name the area of dairy farming in North America.
Name any major seaport of Australia.

Name any international airport in South America.

Name any mega city of Europe.

10
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22. 9RA & U T TeHifaeh Y@-9Htaa (T8 15 W) H FAfaftad daon s suge
o= @ Toisy iR 37eh W fafen . 5x1=5

() HIE HY A arel T |

(I) Ho¥ Iferen U0 SHEEA o ST aTell I3 |

(I11) Tferoft T o W@ dien &9 |

IV) BETe H feo Thigha wiig iR sumd Ha |

[}

(V) 39| ¥ T ity g |

Locate and label the following features with appropriate symbols on the given
outline political map (on page 15) of India :

(I) The state with lowest density of population.

(I) The state with highest percentage of rural population.

(ITIT) A major copper mining area in Southern Rajasthan.

(IV) The integrated iron and steel plant located in Chhattisgarh.

(V) The international airport located in Assam.

64/2 11 P.T.O.
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(22.1)

(22.2)

(22.3)

(22.4)

(22.5)

Note :

(22.1)

(22.2)

(22.3)

(22.4)

(22.5)

FrefafEa wva shaw gieartia wenfea & fau yoa 9@ 22 &
AW :

&The] i gie ¥ 9RA & Tl Bl T &1 9 fafau |

TR & Tog ATYeh UTH0 9@ 91t 19 1 9 fafgu |

et § Tl Te dien @1 &5 1 9 fafgu

o T H feord forefl Ten g gt o1&t 32 o k1 I faf@e |

3THH o AU 91 I9 &1 AW fafa |

A

The following questions are for the Visually Impaired
Candidates only; in lieu of Q.No. 22 :

Name the smallest state of India in respect of area.

Name the state of India having largest rural population.

Name any copper mining area in Rajasthan.

Name any major cotton textile industrial centre in Gujarat State.

Name the international airport of Assam.
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For question no. 21

U9 W& 21 & AT

—— — — %<~ — — — 2% K Bk /318 IN)

P.T.O.
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